Quiz 2 Name:

Microeconomics - EC 2106
Fall Semester 1999
Instructor: Robert McNab Score:

INSTRUCTIONS: Read each question carefully. For multiple choice questions, select the most accurate

answer. When required, you must show your work to receive full credit. Use the back of the quiz for
extended answers. 10 points.

1.

[llustrate the following. Assume that the current price for a gallon of milk is $2.90 with 10 million
gallons demanded monthly in the Atlanta area. What is the primary reason that the the demand curve
slopes downward? 3 points

Starting with the information provided in Question 1, assume that a new research study concludes that
drinking milk every day increases your chances of living longer by 50%. Illustrate the impact of this
information, assuming all el se remaining equal, on the demand for milk. 2 points

In your own words, explain and illustrate the difference between changes in demand and changesin
guantity demanded. 2 points.

Assume that maximum production of New Zealand is 3 billion pounds of wool and 5 billion bushels
of wheat. Illustrate, using a concave PPF, the PPF for New Zealand and what would occur if new
technology meant that the maximum production of wheat increased to 8 billion bushels. Why does
the PPF bow outward from the origin? 3 points



Answer Key

1. The primary reason that a demand curve slopes downward is due to the principle of diminishing
marginal utility, that is, as you consume more of any one good, relative to al other goods, the value you
place on successive units of that good declines.
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2. The study would result in a positive change in taste and preferences which would result in an increase in
demand.
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3. Changes in quantity demanded directly result from changes in price and are represented by movements
along the demand curve. Changesin demand are the result of factors other than price such astastes and
preferences, income, etc.

The answer for question 1 illustrates changes in quantity demanded, the answer in question 2 illustrates
changesin demand.



4. Concave PPFs bow outward from the origin due to diminishing marginal returns.
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